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Welcome to the English Bridge Education & Development (EBED) Simultaneous Pairs. 

The proceeds raised by this event will be used by EBED, the national charity for the promotion and              
development of bridge, in support of its objectives to promote the national learning program “Bridge for All” and 
especially to improve and develop the infrastructure for bridge teaching in England by expanding our support for     
EBTA – the English Bridge Teachers Association 

EBED supplies “Bridge for All” teaching materials, organises Minibridge/Duplicate Bridge teacher training and club 
director training courses, administers the Junior Award Scheme and supports county organisations and individual 
volunteers at the local level to run youth events. 

You can read more EBED’s activities in the current issue of English Bridge and at www.ebedcio.org.uk. If you              
wish to know more about EBED or to arrange a donation/legacy in favour of the charity, please contact us via 
richard@ebedcio.org.uk 

Do please encourage your friends to come to play in these events which are open to all and raise vital funds for our work.  

We thank you so much for your support! 

 
Donna Wright 
Chief Executive 
English Bridge Education & Development, Registered Charity No: 1153543 
 

 8 4 
 Q 5 2 
 K 5 3 2 
 A Q 6 5 

 A 7 2  K Q J 10 6 
 A K 9 8 4  6 
 J 10 8  A 9 6 4 
 10 3  K J 9 

 9 5 3 
 J 10 7 3 
 Q 7 
 8 7 4 2 

HCP  Makeable contracts 
         NT 
 11   N - - - - - 

12  14  S - - - - - 
 3   E 1 4 3 5 4 
    W 2 4 3 5 5  

Board 1 : Dealer North : Love all 
West North East South 
 Pass  1 Pass 
2 Pass 2 Pass  
4 All Pass  
 
The first deal of this set is a fairly obvious spade game for East-West, making              
a possible eleven tricks (five spades, two hearts, three diamonds and a club). This 
does need declarer to time the hand correctly and to make best use of dummy’s 
entries to take two diamond finesses and to play on clubs. East-West do have an 
eight-card fit and a combined 26 points, so should not find it difficult to reach 4.  
 

Flies in the ointment? Well, some players may decide to open that North muck 
(count me out of that group), which may lead to some interesting auctions. If North 
tries his luck with a mini no-trump (10-12) it is possible that East doubles that for      
a big penalty. It is also possible that East-West end up in the no-trump game. A heart 
lead from South can hold that to ten tricks, a club lead allows eleven. The most 
common result will be 450 to East-West with a smattering of 420s, 430s and 460s. 

 A 3 
 A 5 4 3 2 
 A 8 
 Q 10 8 7 

 7 6  9 8 5 
 Q 9  J 10 6 
 K J 7 2  Q 10 6 4 
 A K 9 6 3  J 5 2 

 K Q J 10 4 2 
 K 8 7 
 9 5 3 
 4 

HCP  Makeable contracts 
         NT 
 14   N 1 - 5 4 3 

13  4  S 1 - 5 4 3 
 9   E - - - - - 
    W - - - - -  

Board 2 : Dealer East : NS vulnerable 
West North East South 
  Pass  2 
Pass  2NT Pass  3 
Pass  4 All Pass 
 
North-South have a good game contract here, with 4 being unbeatable. However, 
it is possible that South opens a weak 2 and North-South subside in a part-score.  
In the auction above North judges, a tad optimistically perhaps, that a maximum 
weak two opposite will produce a game. 2NT is a forcing enquiry and 3 shows         
a heart feature and a non-minimum. On that basis North takes a pot at game.  
 

Deep Finesse tells us that the unlikely contract of 5 can always make (declarer 
takes the diamond lead, cashes two top trumps and plays winning spades, dumping 
his diamond loser) but that ten tricks are all that are available in spades. True, but  
to hold 4 to ten tricks West must cash the A and find an immediate diamond 
switch. If he doesn’t do this then the hearts can be set up for diamond discards, 
declarer recording six spades, four hearts and a diamond. 
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 A K J 9 6 2 
 Q J 6 
 K 5 
 5 4 

 3  Q 10 8 7 4 
 A 9 5 2  8 4 
 Q 6 3 2  J 10 8 4 
 A J 10 3  7 6 

 5 
 K 10 7 3 
 A 9 7 
 K Q 9 8 2 
 

HCP  Makeable contracts 
         NT 
 14   N 2 - 2 2 2 

11  3  S 2 - 3 2 2 
 12   E - 1 - - - 
    W - 1 - - -  

Board 3 : Dealer South : EW vulnerable 
West North East South 
   1 
Pass  1 Pass  2 
Pass  2 Pass  3 
Pass  3 Pass  3NT 
All Pass    
 
This is something of a cruel deal. North-South have two decent game contracts 
available to them in that 3NT and 4 are both playable spots. However, the vile 5-1 
spade break wrecks 4 out of hand and the unfortunate disposition of the club suit 
means that 3NT can’t get home either. As long as East-West keep leading diamonds 
North-South can make no more than two spades, three hearts, two diamonds and 
one club in no-trumps; they lack the tempo to get the long clubs going. 
 

The auction is awkward as well. On the second round of bidding a jump to 3 on   
the North cards would not be forcing, so North has to invent something. 2 gets     
an unwelcome raise and North-South will do well to play in 3NT rather than               
a  major. 

 J 
 A 9 3 
 Q 9 6 
 9 8 6 4 3 2 

 K 10 6  A Q 9 7 5 4 3 
 K J 10 5 2  Q 4 
 8 7 4  A K 2 
 A 7  5 

 8 2 
 8 7 6 
 J 10 5 3 
 K Q J 10 
 

HCP  Makeable contracts 
         NT 
 7   N 1 - - - - 

11  15  S 1 - - - - 
 7   E - 2 6 6 4 
    W - 2 6 6 4  

Board 4 : Dealer West : All vulnerable 
West North East South 
Pass Pass  1 Pass  
2 Pass 3 Pass  
4 Pass 4♦ Pass 
4 Pass  4NT* Pass  
5* Pass 6 All Pass 
 
An easy slam for East-West on this hand – easy to play that is. There are seven 
spades, four hearts, two diamonds and a club to take for a grand total of fourteen 
winners. The only drawback is that the enemy have the A to take first…  
 

What about the bidding? Well, many will open that piece of cheese in the Western 
quarter. I am not a fan of these tactics as 5∙3∙3∙2 hands have a lot of losers and play 
disappointingly, but I am well aware that I am in the minority these days. Any pair 
who start 1–1–2 is going to have no further problem as East is likely to launch 
Blackwood next. In the auction above 4, 4♦ and 4 are cue-bids, 4NT is Roman 
Key-card Blackwood and 5 shows two key cards. 

 5 4 
 6 5 4 
 A 9 3 
 A K J 7 3 

 A K 8 2  10 7 6 
 10 9 8  A J 3 2 
 K 10 7 6 2  Q J 4 
 8  Q 10 9 

 Q J 9 3 
 K Q 7 
 8 5 
 6 5 4 2 
 

HCP  Makeable contracts 
         NT 
 12   N 2 - - - - 

10  10  S 2 - - - - 
 8   E - 2 1 1 1 
    W - 2 1 1 1  

Board 5 : Dealer North : NS vulnerable 
West North East South 
 1NT All Pass 
 
A part-score deal where the majority of North-South pairs will surely end up             
in 1NT. Weak no-trumpers may start and finish the auction with their favourite      
toy (as in the auction above). Strong no-trumpers may bid 1–1–1NT–Pass, leading 
to the same contract. Variations may be if North chooses to rebid 2, but now West 
may protect with 2♦ if that floats round to him. 
 

1NT should be defeated; an initial diamond lead sets up seven defensive tricks 
immediately (two spades, one heart, four diamonds and an inevitable club).        
After a more likely low heart lead East has to switch to diamonds after he is in     
with the Q. If he woodenly persists with his hearts declarer will make his 
contract. 
 

1NT down one is worth 100 to East-West. If West steals the deal in 2♦                       
he may achieve a miserable +90, although he may scramble nine tricks for                  
a  wonderful  +110. 
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 A K Q 10 
 8 7 6 5 2 
 5 4 
 7 6 

 J 8  4 3 
 A K J 3  Q 4 
 A J 3  K Q 6 2 
 A Q 9 8  K J 10 4 3 

 9 7 6 5 2 
 10 9 
 10 9 8 7 
 5 2 
 

HCP  Makeable contracts 
         NT 
 9   N - - - 1 - 

20  11  S - - - 1 - 
 0   E 5 5 3 - 3 
    W 5 5 3 - 3  

Board 6 : Dealer East : EW vulnerable 
West North East South 
  1  Pass  
1 Pass 2 Pass 
2♦ Pass  3♦  Pass 
3 Dble Pass  Pass  
5 All Pass  
 
What a deal! East-West have thirteen tricks available with two top losers. I am     
sure that some pairs will get away with grand larceny on this one, reaching 6         
by East and giving South an opening lead problem he may well not solve. With       
the tempting diamond sequence many Souths will lead the ♦10 against a punted 
slam, and great will be the wailing and gnashing of teeth from North. Some       
Wests may punt 6NT (I’ve seen that sort of thing often) and North will have              
to hide his amusement. Doubling 6NT may be unwise, though, as West may try 7, 
with unknown results.  
 

The auction? Who knows? Maybe something like the above, assuming that East has 
an opening bid. Maybe the barking mad 1–6 is better – it may well work here. 

 8 4 3 2 
 J 10 9 6 
 J 
 A Q J 2 

 9  A Q J 10 7 6 
 Q  5 4 
 A K 7 5 4 3 2  Q 8 6 
 K 10 8 4  6 3 

 K 5 
 A K 8 7 3 2 
 10 9 
 9 7 5 
 

HCP  Makeable contracts 
         NT 
 9   N 2 - 4 - - 

12  9  S 2 - 4 - - 
 10   E - 4 - 1 - 
    W - 4 - 1 -  

Board 7 : Dealer South : All vulnerable 
West North East South 
   1 
2♦ 3♦* 3 Pass  
4♦ 4 5♦ Pass  
Pass   Dble All Pass 
 
A deal with many possible outcomes. With the club finesse working North-South  
can make 4, losing just the A, a spade ruff and a diamond. Meanwhile              
East-West can manoeuvre ten tricks in diamonds, losing just one heart and two 
clubs. Thus, absolute par is for East-West to play in 5♦ doubled down one for 200 
points to North-South. 
 

Judging how the auction might go is next to impossible and I can see many          
Easts playing this one in spades, maybe even 4 after North-South have bid 4. 
Much depends on what South does as dealer – Pass? 2? 1? And just how       
much East is enamoured with his spade suit. Anyone playing the hand in spades is 
going to get a rude shock, although maybe West wouldn’t allow his partner to play  
it doubled. 

 Q 6 5 3 2 
 K 3 
 Q 3 
 A 7 5 2 

 J 10  K 7 4 
 9 8 6 2  A J 5 
 K 9 8 7  A J 10 6 
 J 9 6  10 4 3 

 A 9 8 
 Q 10 7 4 
 5 4 2 
 K Q 8 
 

HCP  Makeable contracts 
         NT 
 11   N 3 - 1 3 1 

5  13  S 3 - 1 3 1 
 11   E - 1 - - - 
    W - 1 - - -  

Board 8 : Dealer West : Love all 
West North East South 
Pass Pass  1NT Pass 
Pass  2* All Pass 
 
A part-score deal with North-South able to make as many as nine tricks in spades. 
That North hand with its ghastly spade suit and lack of intermediates is nowhere 
near an opening bid in my view, but that won’t stop many from opening 1. 
 

In the auction above 1NT is weak and 2 shows, in the modern style, spades         
and a minor. It’s reasonable to do this as North is a passed hand and also is in        
the protective position, so South can’t take him too seriously. Further, it’s        
match-point pairs, so you can’t afford to allow the opposition to steal the deal          
in  1NT. 
 

If East is allowed to play in 1NT (as some will) he may be able to scramble six     
tricks. However, if he misguesses diamonds he may be held to five. Neither -50     
nor -100 should score badly for East-West, though, as 140 to North-South should    
be frequently appearing on tonight’s traveller. 
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 10 8 5 
 9 6 3 
 8 6 
 J 8 7 6 5 

 Q 7 6 2  9 3 
 K J 10 5  A 8 4 2 
 A 9  K J 7 3 2 
 K Q 9  10 2 

 A K J 4 
 Q 7 
 Q 10 5 4 
 A 4 3 
 

HCP  Makeable contracts 
         NT 
 1   N - - - - - 

15  8  S - - - - - 
 16   E 1 3 4 2 3 
    W 1 3 4 2 3  

Board 9 : Dealer North : EW vulnerable 
West North East South 
 Pass  Pass  1 
1NT Pass  2* Pass  
2 Pass  4 All Pass 
 
East-West have a paper-thin game here with 4 just about makeable. It’s           
likely, though, that many will not reach it, and many will fail to make game even if 
they  do.  
 

The auction above is one possible route to game, assuming North-South are    
playing a weak no-trump with four-card majors. Many Souths, however, will open 
1♦, allowing West an easy take-out double, or a strong no-trump, probably       
ending the auction. If South does open 1 it is a marginal action to overcall 1NT     
on the West cards – pass cannot be criticised. 
 

In 4 declarer has to get the trumps right and then play up to the Q and the KQ. 
The ♦8 lead from North simplifies the play by allowing diamonds to be established.  
If you note the diamond pips you can see that the ♦7 now comes into the game. 

 K 9 6 5 4 
 9 8 6 
 10 6 4 3 
 4 

 A 10 3 2   -  
 Q J 5  A K 10 7 3 
 K Q  A J 9 7 2 
 K J 10 2  9 7 3 

 Q J 8 7 
 4 2 
 8 5 
 A Q 8 6 5 
 

HCP  Makeable contracts 
         NT 
 3   N - - - - - 

16  12  S - - - - - 
 9   E 5 5 5 1 5 
    W 5 5 5 1 5  

Board 10 : Dealer East : All vulnerable 
West North East South 
  1 Pass  
1 Pass  2♦ Pass  
3* Pass  3♦ Pass  
3 Pass  4♦ Pass  
4NT* Pass  5* Pass  
6 All Pass 
 
East-West have a fair slam available on this deal with 6 depending at first sight on  
a club guess. With South holding both honours there is no guess… but South can 
defeat the slam by leading the A and another club, giving North a ruff. Unlucky. 
 

Still, this is a 50-50 slam, so no tears should be spilt if East-West fail to bid it.          
The auction above is one that might suffice to reach the slam. 3 is fourth-suit 
forcing and is game-forcing. 3♦ shows the 5-5 shape and 3 sets the suit. After East 
shows that he is willing to co-operate in a slam venture by cue-bidding his ♦A West 
takes over with Roman Key-card Blackwood. 

 Q 10 8 4 
 J 8 
 J 6 5 
 10 9 8 5 

 9 5 3  J 2 
 A K Q 10 7 5  9 6 4 2 
 4 3  A K Q 8 7 
 A 6  Q J 

 A K 7 6 
 3 
 10 9 2 
 K 7 4 3 2 
 

HCP  Makeable contracts 
         NT 
 4   N 1 - - 1 - 

13  13  S 1 - - 1 - 
 10   E - 5 5 - 3 
    W - 5 5 - 3  

Board 11 : Dealer South : Love all 
West North East South 
   Pass 
1 Pass  2♦ Dble 
2 Pass  4 All Pass 
 
A deal where the world, his wife and the family dog would reach 4. Quite           
how the auctions will go is anyone’s guess (just what is the right response to 1     
on those East cards?) but whatever the route the final destination is surely set          
in  stone.  
 

So, an entirely flat board across the country, then? Not at all. A lot of match-points 
are available on the opening lead with the natural-looking club allowing West          
to make all thirteen tricks at high speed (six hearts, five diamonds and two clubs).    
A spade lead, on the other hand allows South to grab the first two tricks and hold 
declarer to eleven winners. 
 

I’m going to suggest that 510 to East-West will be the commonest score tonight with 
excellent match-point scores going to those inspired Norths who lead spades. 
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 K 2 
 A Q 8 4 
 A J 9 
 9 5 3 2 

 A J 3  Q 10 9 6 5 
 K J 6  10 9 7 5 
 10 8 7 5 3  K Q 
 K 10  Q 8 

 8 7 4 
 3 2 
 6 4 2 
 A J 7 6 4 
 

HCP  Makeable contracts 
         NT 
 14   N 4 1 - - 2 

12  9  S 4 1 - - 2 
 5   E - - - 1 - 
    W - - - 1 -  

Board 12 : Dealer West : NS vulnerable 
West North East South 
1NT Pass  2* Pass  
2♦* Pass  2 All Pass 
 
East-West are likely to steal the deal in spades on this one, recording either           
110 points for 2 making or -50 for 2 one down if North-South find their heart  
ruff.  
 

If East-West are playing a weak no-trump then the auction above looks to be 
routine; after 1NT a Stayman enquiry fails to locate a major-suit fit and East signs off 
in 2. If West opens 1♦ (playing a strong no-trump) then East-West may well bid     
to 2 via 1♦–1–1NT–2–2. 
 

It is hard to see how North can get involved in proceedings unless he fancies              
a protective double after 2. That would be very speculative given that there are 
four hearts known to be on his left – still, it would work here as it would locate      
the 5-4 club fit and allow South to make an easy 3. 

 8 7 3 
 10 7 4 
 K Q 8 7 4 
 K 4 

 K 10 6 4 2  A Q 5 
 A Q 9 2  J 8 3 
  -   A 9 2 
 J 6 5 2  Q 9 8 7 

 J 9 
 K 6 5 
 J 10 6 5 3 
 A 10 3 
 

HCP  Makeable contracts 
         NT 
 8   N - 1 - - - 

10  13  S - 1 - - - 
 9   E 4 - 4 3 2 
    W 4 - 4 3 2  

Board 13 : Dealer North : All vulnerable 
West North East South 
 Pass  1NT Pass 
2* Pass  2 Pass  
3 Pass  4 All Pass 
 
West has an awkward hand to value after East opens a weak no-trump. Pessimists 
will respond 2 and sign off with 2 over East’s 2♦ response (cf Hand 12) whereas 
optimists will employ the transfer sequence above and sail into the spade game. 
Maybe your system has a halfway house method whereby West can invite game 
with 5-4 in the majors? If so, East is likely to accept the invitation. 
 

Curiously, Deep Finesse says that 4 cannot be made but that the weird contract    
of 4 can. That’s because Deep Finesse can see that the defence can kick off with 
three rounds of clubs, securing a ruff. In 4 that’s fatal, as there is a further heart 
loser. In 4 it isn’t as East can lead the J and pin the 10. Yeah, right. Of course…  
 

Here, on planet Earth, no one is leading clubs against 4. Now, with a heart loser, 
declarer has to divine the 50-50 location of the 10. Does anyone have a coin? 

 K J 3 
 Q 10 8 5 4 
 J 8 7 
 9 8 

 8  Q 10 9 5 4 2 
 A 6 3 2  K J 7 
 A 9 5 3  K 6 
 Q 7 5 2  10 6 

 A 7 6 
 9 
 Q 10 4 2 
 A K J 4 3 
 

HCP  Makeable contracts 
         NT 
 7   N 1 1 - - 1 

10  9  S 1 1 - - 1 
 14   E - - 1 1 - 
    W - - 1 1 -  

Board 14 : Dealer East : Love all 
West North East South 
  2 All Pass  
 
A miserable part-score deal with no one able to make anything much. Amusingly, 
according to Deep Finesse both sides can make a one-level contract and no more.    
Is it possible to play the hand at the one-level? Only if East passes and the auction    
is able to go (uncontested, South first) 1–1–1NT. Not very likely, I would have 
thought. 
 

Many are likely to play this in unmakeable spots, quite possibly in 2 reached     
after East opens and closes the auction with that call. South doesn’t have a bid    
over 2 although there are some who will lurch into the fray with an unsound 
overcall of 3, turning a plus score into a minus. East-West may have to find              
a diamond ruff to take the maximum penalty against 3, but that contract has        
no chance even if they miss it. Some adventurous Souths may even overcall 2NT, 
leading heaven knows where. 
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 10 
 Q J 10 5 2 
 K 8 4 2 
 K 5 3 

 J 3  Q 9 8 7 5 4 2 
 A K 7 4 3   -  
 A J 10 7 3  9 6 
 6  A 9 8 7 

 A K 6 
 9 8 6 
 Q 5 
 Q J 10 4 2 
 

HCP  Makeable contracts 
         NT 
 9   N 2 - 2 - 1 

13  6  S 1 - 1 - 1 
 12   E - 1 - 3 - 
    W - 2 - 3 -  

Board 15 : Dealer South : NS vulnerable 
West North East South 
   1NT 
2* Pass  2 All Pass  
 
 
A misfitting hand where West will do best not to insist on one of his five-card      
suits. After South opens a weak no-trump West is likely to have some fancy toy        
to employ; here, 2 is the modern “hearts and a minor” form of multi-Landy           
(or Cappelletti or whatever you wish to call it). When East shows his disdain for 
either hearts or a minor by bidding spades West should probably pass. West may   
go to the well again with 3♦, causing East to sigh and rebid his spades.  
 

In fact, East may make a lot of tricks in spades – the key for the defence is for    
South to lead trumps. If he fails to do so, East can ruff two clubs in dummy, dump 
two losers on the A K and end by spectacularly leading the Q from hand, pinning 
the singleton ten. That would be eleven tricks for declarer. 

 K 8 
 9 3 
 A Q 8 5 4 2 
 A K 6 

 A J 10 9 3 2  7 6 
 J 7 6 4  A Q 10 8 5 
 10  K 9 7 
 4 2  10 9 5 

 Q 5 4 
 K 2 
 J 6 3 
 Q J 8 7 3 
 

HCP  Makeable contracts 
         NT 
 16   N 4 4 - - 1 

6  9  S 4 4 - - 1 
 9   E - - 2 1 - 
    W - - 2 1 -  

Board 16 : Dealer West : EW vulnerable 
West North East South 
Pass  1♦ 1 1NT 
2 3♦ Pass  Pass  
3 Dble Pass  4♦ 
All Pass  
 
I really don’t have any idea how the auction will go tonight on this one as there     
are so many possibilities. West really shouldn’t open 2 as he has a four-card     
heart suit on the side but many players will. Perhaps East shouldn’t overcall 1, 
vulnerable, but many will. 
 

Left to their own devices North-South may well reach 3NT (why not, with a good   
six-card suit and a combined 25 points?). That is two off without the option after     
a heart lead (one spade, four hearts and a diamond) and three off after a spade   
lead (five spades, one heart and one diamond). Perhaps East-West do best to keep 
shtum on this one and allow North-South to dig themselves into a hole? Maybe 
there’s a moral here somewhere? 

 K 7 5 4 2 
 A 9 6 
 7 4 3 
 K 4 

 J 3  A 9 8 
 Q 10 8 5 2  J 7 
 K Q 8  9 5 2 
 9 8 2  A J 10 6 5 

 Q 10 6 
 K 4 3 
 A J 10 6 
 Q 7 3 
 

HCP  Makeable contracts 
         NT 
 10   N - 2 - 2 1 

8  10  S - 2 - 2 2 
 12   E 1 - 1 - - 
    W 1 - 1 - -  

Board 17 : Dealer North : Love all 
West North East South 
 Pass  Pass  1NT 
Pass  2* Pass  2 
All Pass 
 
A part-score deal many playing it in 2 and plenty playing in 1NT. Weak no-trumpers 
will probably bid in the fashion as outlined above. Strong no-trumpers may well bid 
(South first) 1–1–1NT–Pass.  
 

Deep Finesse smugly points out that 2 should make on the nose – but then       
Deep Finesse can see that declarer only has to lose one trump trick. Mere mortals, 
being denied access to a sight of all four hands, are likely to make the odds play       
in spades, finessing the ten at some point. In that way they run the risk of losing   
two spades, a heart, two diamonds and a club for one down. In similar vein the play 
in 1NT might be tricky after a heart lead from West. Yes, South can make eight   
tricks – that doesn’t mean he should. 
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 A Q 9 8 7 6 2 
 J 3 
 K 7 
 Q 3 

 4 3  K 10 
 A 8 7  Q 10 9 6 5 
 Q J 10 5 3  9 4 
 A 8 2  K J 6 5 

 J 5 
 K 4 2 
 A 8 6 2 
 10 9 7 4 
 

HCP  Makeable contracts 
         NT 
 12   N - - - 2 - 

11  9  S - - - 2 - 
 8   E 2 3 3 - - 
    W 2 3 3 - -  

Board 18 : Dealer East : NS vulnerable 
West North East South 
  Pass  Pass  
1♦ 1 Dble Pass 
2♦ 2 All Pass 
 
Although this hand belongs to East-West (Deep Finesse says that they can make  
both 3 and 3♦) it’s not so easy seeing them bidding to the three-level. Many will 
open the West hand in third seat with 1♦ but after that it’s not easy to see West 
wanting to venture beyond North’s 2. 
 

Perhaps much will depend on what East does over the 1 overcall. Should he double 
or should he try a very committal 2? The former keeps clubs in the game, the latter 
does at least show a five-card heart suit…  
 

Anyway, 2 is a cakewalk for North (six spades and two diamonds) but nine tricks 
are impossible unless East-West open up hearts. 3 for East-West just loses one 
spade, one trump and two diamonds. 

 K 10 7 
  -  
 J 8 4 3 2 
 Q 10 9 4 3 

 8 6 5  A Q 4 3 
 J 7 3 2  A 8 6 4 
 Q 10 7 6  A 5 
 J 5  8 6 2 

 J 9 2 
 K Q 10 9 5 
 K 9 
 A K 7 
 

HCP  Makeable contracts 
         NT 
 6   N 3 2 1 1 2 

4  14  S 3 2 1 1 2 
 16   E - - - - - 
    W - - - - -  

Board 19 : Dealer South : EW vulnerable 
West North East South 
   1 
Pass  1NT Pass  2NT 
All Pass 
 
This is a nasty deal. Maybe strong no-trumpers will survive it by opening 1NT         
and buying the contract. If East bids something (2 to show the majors?) he may 
locate the 4-4 heart fit and subsequently live to regret it. If South opens 1,           
the normal action, North has to choose between passing, a weird and wonderful    
1 response (I have seen that work before!) or an uneasy 1NT. The last will get 
raised to 2NT (why not? A good 16 points with a good five-card suit) and North will 
hurriedly pass. 
 

2NT has eight tricks pontificates Deep Finesse. Well, yes it does (we have learned  
not to argue with the computer), but declarer is likely to fail against a low spade 
lead. If North takes that on table with the 9 and leads the K (not unreasonable) 
then East can defeat the hand by taking the A and playing a second heart. The 
defenders can now take three spades, two hearts and the ♦A for one off. 

 A 7 3 2 
 K 9 8 5 
 10 6 2 
 6 2 

 K Q 6 5  10 9 4 
 Q J 6  A 7 3 
 K 8 5 4  J 
 A 5  K J 9 8 7 3 

 J 8 
 10 4 2 
 A Q 9 7 3 
 Q 10 4 
 

HCP  Makeable contracts 
         NT 
 7   N - - - - - 

15  9  S - 1 - - - 
 9   E 4 - 2 3 1 
    W 4 - 2 3 1  

Board 20 : Dealer West : All vulnerable 
West North East South 
1 Pass  2 All Pass  
 
 
Some East-West pairs may overreach themselves on this deal but a part-score           
is really all that is available to them. Strong no-trumpers may well bid 1NT–3NT but 
find that they are short of tricks. Weak no-trumpers might overbid the East hands 
and bid 1–2–2NT–3–3NT.  
 

Double-dummy a diamond lead to the ♦Q gives West no chance but even after          
a natural low heart lead, run to the J, declarer can’t do it. He may think himself    
off to a great start, but he simply doesn’t have the tricks. After the A and a club to 
the jack the defence can clear the hearts, setting up a spade, two hearts, a diamond 
and a club for five defensive tricks. 
 

Cautious pairs who settle for plus scores will score well here, although no doubt 
someone, somewhere will bring home 3NT somehow. 
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 K 10 9 3 
 Q 6 
 Q 10 8 
 J 7 6 3 

 Q J 7  5 4 2 
 K 8 7 4  J 10 5 
 K 7 6  J 9 5 3 
 Q 8 4  A 9 5 

 A 8 6 
 A 9 3 2 
 A 4 2 
 K 10 2 
 

HCP  Makeable contracts 
         NT 
 8   N 3 1 1 3 2 

11  6  S 3 1 2 3 2 
 15   E - - - - - 
    W - - - - -  

Board 21 : Dealer North : NS vulnerable 
West North East South 
 Pass  Pass  1 
Pass  1 Pass  1NT 
All Pass 
 
 
A dull part-score deal that everyone should play in 1NT. Those playing a weak        
no-trump with four-card majors are likely to bid as above, those playing a strong   
no-trump are likely to open 1NT to end the auction.  
 

There are plenty of match-points available in the play, though. West does best         
to attack a red suit – the choice of the Q would be disastrous. Although South 
always has seven tricks and is likely to make eight there will be match-points up     
for grabs for both sides here. There will be scores of 90, 120 and 150, I suspect, for 
1NT making, making with an overtrick and making with two overtricks. 

 9 6 
 Q 10 4 2 
 Q 10 9 6 3 
 3 2 

 K 5 3  Q J 10 7 4 
 J 9 6  8 7 3 
 K 7 2  A 4 
 A K 10 6  8 7 4 

 A 8 2 
 A K 5 
 J 8 5 
 Q J 9 5 
 

HCP  Makeable contracts 
         NT 
 4   N - 2 1 - - 

14  7  S - 2 1 - - 
 15   E 2 - - 3 2 
    W 2 - - 3 2  

Board 22 : Dealer East : EW vulnerable 
West North East South 
  Pass 1 
Pass  Pass  1 Pass  
2* Pass  2 All Pass  
 
 
It is possible that South’s opening bid of 1 ends the auction – West doesn’t have     
a sensible bid over that and North can’t really dredge up a response. Having passed 
initially, East might protect with 1, though, and that would allow East-West to 
reach their optimum contract of 2. 
 

If South opens 1NT (strong version) he is likely to steal the deal. To beat it            
East-West have to lead spades early. If West leads clubs and then allows East’s ♦A   
to get knocked out early 1NT may well slip through. 90 to North-South will prove    
an excellent match-point score for them. 

 7 6 
 Q 10 7 3 
 7 3 
 K Q J 9 3 

 K 9 4 3  A J 2 
 A J 9 6 5  K 8 2 
 9 5  J 4 2 
 10 2  7 6 5 4 

 Q 10 8 5 
 4 
 A K Q 10 8 6 
 A 8 
 

HCP  Makeable contracts 
         NT 
 8   N 4 4 - 1 3 

8  9  S 4 4 - 1 3 
 15   E - - 1 - - 
    W - - 1 - -  

Board 23 : Dealer South : All vulnerable 
West North East South 
   1♦ 
Pass  1 Pass  1 
Pass  1NT Pass  3NT 
All Pass 
 
3NT is not a great contract for North-South on this deal but with both major-suit 
jacks onside and with diamonds 3-2 declarer has an easy route to nine tricks. How 
often will it be bid? Well, the auction above is not unreasonable. After 1♦ – 1 – 1 
what else can North bid but 1NT? 3NT is something of a punt now by South, but     
he can see seven likely tricks, so only needs his partner to turn up with a couple. 
 

East has something of a problem with his opening lead. If he opts for a passive     
club or diamond (and the alternatives are not exactly attractive) then declarer       
will have the first eleven tricks on the table at high speed. 660 to North-South is sure 
to score well for them. 
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 A 7 
 A K 10 8 
 A Q 5 3 
 Q 7 2 

 J 10 8 6 5 4  Q 9 3 2 
 J 5 4  3 
 J 7  K 10 8 6 
 8 5  A K J 9 

 K 
 Q 9 7 6 2 
 9 4 2 
 10 6 4 3 
 

HCP  Makeable contracts 
         NT 
 19   N 2 1 3 - 2 

3  13  S 1 1 3 - 2 
 5   E - - - 3 - 
    W - - - 3 -  

Board 24 : Dealer West : Love all 
West North East South 
Pass  1 Dble 4 
All Pass 
 
 
An interesting deal in that East-West can make the highest scoring contract (3)  
and North-South do best to bid 4 and go a quiet one off. The auction above is one 
route to 4, although there are many and varied ways the bidding might follow.        
I can see some West’s sacrificing in 4 (doubled by North) over 4, expecting that   
it would be cheap. Well, it is – except that the sacrifice is a phantom. 
 

4 has no chance – East-West don’t even need to play three rounds of clubs 
securing a ruff. Declarer has three natural club losers and a diamond. As for 4 it 
should die of natural causes, losing two spades and two red aces. Unless, that is, 
North gets it into his head to kick off with ace and another trump… (!) 

 10 4 
 K Q J 7 6 3 2 
 Q 10 5 
 5 

 J 7 5  A K 9 
 9 8  A 10 5 
 A 9 8 6  J 4 2 
 9 4 3 2  Q J 7 6 

 Q 8 6 3 2 
 4 
 K 7 3 
 A K 10 8 
 

HCP  Makeable contracts 
         NT 
 8   N - 1 3 2 1 

5  15  S - - 3 2 1 
 12   E 1 - - - - 
    W 1 - - - -  

Board 25 : Dealer North : EW vulnerable 
West North East South 
 3 3NT? All Pass 
 
 
This could prove to be an unhappy board for East-West. Surely every North will  
open 3 with that North hand and now what do you do as East? As the cards lie it’s 
best to pass, leaving South to pass and for North to rack up a relatively trouble-free 
nine tricks, losing two spades and two red aces. 
 

However, red-blooded Easts may well try their luck with 3NT, playing to be able       
to shut North out of the play and hoping that the missing points lie as much with 
West as they do with South. Nope, West is a near desert and, after a heart lead, 3NT 
can get marmalised.  
 

It is possible for South to muck up the defence, though; having led his heart he may 
well funk leading from the ♦K. Nonetheless, it’s hard to see East making much 
beyond, say, six tricks. If South has doubled 3NT the cost will be 800 or so. 

 K 7 
 J 10 3 
 A Q 8 5 4 
 Q J 4 

 A Q 6 5  J 10 9 3 2 
 K 9 8 7 6 5 2  A 
 3  K J 10 2 
 2  9 6 5 

 8 4 
 Q 4 
 9 7 6 
 A K 10 8 7 3 
 

HCP  Makeable contracts 
         NT 
 13   N 3 1 - - 2 

9  9  S 2 1 - - 2 
 9   E - - 3 4 - 
    W - - 3 4 -  

Board 26 : Dealer East : All vulnerable 
West North East South 
  Pass  Pass 
3 All Pass 
 
 
Well, this is a tough hand, I have to say. East-West can make 4 taking advantage   
of the friendly splits in the majors. Are they likely to reach it? No, not really. After 
two passes it looks more logical for West to attempt to throw a spanner in the works 
with a pre-emptive 3 than to open with an attenuated 1. The pre-empt is likely  
to scoop the pool and record a score of 140 points, losing a trick in each suit. 
 

East-West might reach the marginal spade game if East were to open 2 (Lucas 
style, showing a weak hand with spades and a minor). Now West would raise to 4 
and Bob’s your uncle. Other than that, I can’t see too many East-West pairs getting 
spades into the game. We shall see 
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 4 2 
 A J 8 7 6 
 K 6 4 3 
 7 6 

 A K 8 6 3  Q J 5 
 Q 9 2  10 5 4 3 
 J 8  Q 10 7 
 J 8 3  A Q 9 

 10 9 7 
 K 
 A 9 5 2 
 K 10 5 4 2 
 

HCP  Makeable contracts 
         NT 
 8   N 1 3 2 - - 

11  11  S 1 3 2 - - 
 10   E - - - 1 1 
    W - - - 1 1  

Board 27 : Dealer South : Love all 
West North East South 
   Pass 
Pass 2* Pass  3* 
Pass  3♦ All Pass 
 
After South asses as dealer do you open that piece of junk in the West seat?              
A 5∙3∙3∙2 hand containing a brace of unsupported jacks is not my idea of an opening 
bid as it has far too many losers, but many will doubtless count up to 11 points,  
close their eyes and enter the fray with 1. After that, who knows? If East-West’s 
methods allow them to stop at a low level they may survive. Deep Finesse says     
that 1 is the limit on the East-West cards, but 2 is likely to be made in practice    
as the defence will find it all but impossible to untangle their tricks. 3, though, has 
no chance. 
 

The auction above is a fanciful one based on North-South playing Lucas twos           
(cf Hand 26). North’s 2 shows hearts and a minor, South’s 3 is pass or correct and 
3♦ reaches the optimum spot. Unlikely, I realise, but what else is there to say about 
a deal where the rightful bidding is Pass–Pass–Pass–Pass? 

 K 6 5 2 
 Q 9 7 
 10 6 
 10 9 8 5 

 J 10 9  A 7 
 K 8 5  A 10 3 
 K J 9 7 4 3  8 5 
 2  K Q J 6 4 3 

 Q 8 4 3 
 J 6 4 2 
 A Q 2 
 A 7 
 

HCP  Makeable contracts 
         NT 
 5   N - - - - - 

8  14  S - - - 1 - 
 13   E 3 3 1 - 3 
    W 3 3 - - 2  

Board 28 : Dealer West : NS vulnerable 
West North East South 
2♦ All Pass 
 
 
A part-score deal with East-West able to make nine tricks in either minor. Maybe  
the quickest auction will be where West opens with a weak 2♦ and scoops the pool. 
South might protect with a take-out double, but 2 does not play well for his side, 
despite the 4-4 fit, especially after East leads a diamond. 
 

Note that Deep Finesse says that East can make 3NT. Well, maybe. After a spade lead 
from South (generating two spade tricks for declarer) East has to play a diamond     
to the jack, hoping that diamonds are 3-2 and that South has two honours. Not         
a great chance. If, instead, he plays for clubs to be 3-3 (a better chance in theory)   
he will lose two spades, two clubs and a diamond. Not that East-West should           
be anywhere near 3NT, but we have all seen such contracts on the travelling 
scoresheet. 

 Q 9 
 A Q 2 
 K Q J 10 2 
 Q 5 4 

 J 5 3  A 10 8 4 
 J 5  10 9 7 6 
 A 6 5 3  7 
 8 7 6 2  A K 10 9 

 K 7 6 2 
 K 8 4 3 
 9 8 4 
 J 3 
 

HCP  Makeable contracts 
         NT 
 16   N - 3 1 - 2 

6  11  S - 3 1 - 1 
 7   E 2 - - 1 - 
    W 2 - - 1 -  

Board 29 : Dealer North : All vulnerable 
West North East South 
 1♦ Dble 1 
Pass  1NT All Pass 
 
Another part-score deal with North likely to win it in 1NT. Some pairs may get there 
directly by open 1NT (strong version), others may get there after North opens 1♦ 
and East makes a perfectly respectable take-out double. 
 

North cannot be prevented from making eight tricks in no-trumps. After East      
leads clubs (probably best to start with the  A K and another) declarer always       
has three hearts, four diamonds and a club. East must be careful to cash out           
his five tricks quickly or he may be squeezed in the majors for the second     
overtrick. 
 

South, by the way, can be held to seven tricks in 1NT if West sees fit to lead a spade. 
The defence can now take three spades, a diamond and two clubs, holding the 
contract tight. 
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 3 2 
 Q 10 9 7 5 3 
 6 4 
 A 9 7 

 K 9 4  Q J 8 6 5 
 A K J 6  8 4 
 7 2  K Q J 5 3 
 Q 8 5 3  4 

 A 10 7 
 2 
 A 10 9 8 
 K J 10 6 2 
 

HCP  Makeable contracts 
         NT 
 6   N 2 - 1 - 1 

13  9  S 2 - 1 - 1 
 12   E - 1 - 3 - 
    W - 2 - 3 -  

Board 30 : Dealer East : Love all 
West North East South 
  Pass 1 
Pass 1 Dble  Pass  
1 2 2 All Pass 
 
A competitive part-score deal with East-West holding sway by dint of having          
the spade suit. After East passes (and some may well open 2, Lucas style – see 
Hands 26 and 27) and South opens 1 West has nowhere to go. After North’s 1 
response East has the ideal hand for a shapely take-out double. Where next, West? 
Resisting the temptation to bid no-trumps (East is a passed hand, remember)     
West should try his three-card spade suit. North may bid 2 now (or even 2)       
but 2 should scoop the pool. Eight tricks are easy enough; nine can be made with   
a struggle. 
 

Some West’s may be tempted into a four-card overcall of 1 over 1, by the way. 
Not recommended – and where that will get them heaven knows. Probably East will 
bid spades and East-West will land on their feet. 

 9 4 
 A K 3 2 
 Q 10 
 10 9 6 5 4 

 K J 3  Q 8 6 
 J 7 5  9 8 4 
 K J 9 8  A 7 4 3 2 
 A J 2  7 3 

 A 10 7 5 2 
 Q 10 6 
 6 5 
 K Q 8 
 

HCP  Makeable contracts 
         NT 
 9   N 2 - 2 1 - 

14  6  S 2 - 2 1 - 
 11   E - 2 - - 1 
    W - 2 - - 1  

Board 31 : Dealer South : NS vulnerable 
West North East South 
   Pass 
1NT All Pass 
 
Another deal with a 5∙3∙3∙2 11-count as dealer or in second seat. Once again, do you 
open that tripe as South, vulnerable? Me? Never in a million years, but others will 
doubtless disagree. 
 

If South passes West may win the auction with 1NT, probably recording seven    
tricks for +90. If South opens 1 then it’s likely that North declares 1NT.                      
A lucky diamond blockage prevents East from taking the first five diamond tricks,  
but the first four tricks is good enough if the defence switches to spades. North 
should be at least one off for -100 and may go two off for the kiss-of-death score     
of -200.  
 

If North-South concede 200 points for a terrible match-point score they needn’t look 
in this direction for sympathy. 

 K J 8 7 6 
 8 2 
 J 7 4 
 10 9 2 

 A 3  Q 10 9 5 
 K 7 4  A J 10 6 5 3 
 A K 10 6 3 2  9 
 A K  8 3 

 4 2 
 Q 9 
 Q 8 5 
 Q J 7 6 5 4 
 

HCP  Makeable contracts 
         NT 
 5   N - - - - - 

21  7  S - - - - - 
 7   E 2 5 7 4 6 
    W 2 6 7 4 6  

Board 32 : Dealer West : EW vulnerable 
West North East South 
2NT Pass  3♦* Pass 
3 Pass  3 Pass  
4* Pass  4♦ Pass 
6 All Pass 
 
There’s a decent heart slam available to East-West on this deal. Deep Finesse    
points out that a grand slam is makeable, but that depends on trumps being 2-2 and 
that is not within the odds for a decent grand slam. In any case, the diamonds need 
ruffing out, so they have to break 4-2 (or better) as well.  
 

What should West open? An old-fashioned Acol 2♦ works best, but who plays    
those methods these days? After an off-centre 2NT East shows both of his suits via   
a transfer and West’s 4 is a cue-bid with either major agreed. When East makes      
a return cue-bid of 4♦ he is saying that he is not averse to a slam, so West can duly 
punt one, possibly via Roman Key-card Blackwood. Bidding after 2NT is never that 
easy, so it will be interesting to see how many reach the heart slam. 

 


